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#include <stdio.h> (E1THER)
Int main(void){ 2F9=8
inta =5; a+b=8
int b = 3; 5.+.3-=8

Int total = a + b;

\

printf("a + b = %d ¥n", total);
printf(‘a + b = %d ¥n”,a + b); p EDFETHRAUBRICEDTT,

printf ("5 + 3 = %d ¥n", 5 + 3);

J

return O;
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#include <stdio.h>

Int main(void){

inta=1;

intb =-1;

printf("+a = %d ¥n", +a);
= %d ¥n”, -a);

printf("+b = %d ¥n”, +b);

-

printf(“-a
¢

printf(“-b = %d ¥n”, -b);

return O;

i

(RITHER)
+a =
-a = -1
+b = -1
b =
HET BETH
+ B /S EET

BIEYA FAEET
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#include <stdio.h> (E1THER)
a=
lnt_maln(VOId){ q=2
inta = 1;
a=3
printf(“a = %d ¥n”, a); a=2
printf(*a = %d ¥n”, a++); q=1
printf("a = %d ¥n”, a++);
printf(*a = %d ¥n", a--); o e
printf(“a = %d ¥n”, a--); RET BRTA
4t AV UXY NEEF
return O;
} - TOUAY NEETF
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AVIIVAYNMTIIUAY NDHIE - BRE

:m 2.: k a++ & ++a T,
’ MEINZIAIVITMNEDS ZEITER
b =a++; b = ++a;
printf("a = %d ¥n”, a); printf("a = %d ¥n”, a);
printf("b = %d ¥n”, b); printf("bo = %d ¥n”, b);
(E1THER) (EITHER)
a=2 a=2
b=1 b=2
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/= BRERANEETF HHOEZLEDICINET 5
%= FRRANEET GHDETELAZRELVLZHED ZKAT S

FIZIE x+=3; & x=x+3; EAUEK (hDEEFHEEK)
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#include <stdio.h>

Int main(void){
inta=1;

a+= 4,
printf("a = %d ¥n”, a);

a*=3;
printf(“a = %d ¥n”, a);

return O;
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#include <stdio.h>

Int main(void){
inta=1;

double ans = a / 3;
printf(*ans = %d ¥n”, ans);

ans = (double)a / 3;
printf("ans = %d ¥n”, ans);

return O;

i

i

(EITHER)
ans = 0.000000

ans = 0.333333

EET EEA
(i) v ANEEF
Int a;
(char)a;

(float)a;
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*+ XA NEEF

double a = 10;

double b = 5;

double ¢ = 3;

Xintans = (int)(a + b) / c;

* v X NEHE

QOint ans = (int)((a + b) / ¢);

* v X NEHE
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